
M  
Item #: KLD4007 Charlie Aluminum 

Convertible Fire Table
Manual and Instruction Guide

+

_

Electronic Ignition
Requires 1 AA battery
(not included)

odel #: FP-10314

TM/MC

This product can expose you to chemicals 
including Lead, Chromium (hexavalent 
compounds), Di(2-ethylhexyl) phthalate (DEHP) 
and Diisononyl phthalate (DINP), which are known 
to the State of California to cause cancer and birth 
defects or other reproductive harm. For more 
information, go to www.P65Warnings.ca.gov.



Contact us for assistance:  customercare@jrhome.com | (800) 561-5550   2

10

11-12

4

Converting from Propane to Naturals Gas Page 16-19

4-15

Troubleshooting

BEFORE YOU BEGIN
TM/MC



3

PART DESCRIPTION

HARDWARE CONTENTS

 

 

BBAA

CC DD EE FF

M6x30 screw
Qty: 12

M6x25 screw
Qty: 4

M5x10 screw
Qty: 4

M6x12 Bolt
 (Preassembled)

Qty: 2

M6 nut 
(Preassembled)

Qty: 2

Wing nut bolt 
(Preassembled)

Qty: 2

GG HH
M4x8 Screw 

(Preassembled)
Qty: 1

M4 Washer
(Preassembled)

Qty: 1

Lid

Table Top

Bowl Frame

Back Panel

Right Side Panel

Left Side Panel

Front Panel

Burner

Door Handle

Bottom

Cylinder Fixing Plate

Fire Glass

1

1

1

1

1

1

1

1

1

1

2

2

L

SAFETY INFORMATION

A

B

C

D

E

H

F

J

I

G

K

+

_

Electronic ignition.
Requires (1) AA Battery..
(Not Included)

TM/MC



Contact us for assistance:  customercare@jrhome.com | (800) 561-5550                                      4

SAFETY INFORMATION
TM/MC



1 

2 

Locate 4 panels D/E/F/G.
Note: Side panel E and F bottom hole towards to 
Front panel G  
Attach using 8pcs M6x12 Screws (AA).  

Attach the 2pcs Cylinder K to the Bottom J 
with the preassembled M6x12 Bolts (DD) and M6 
Nuts (EE) 
Attach the bottom to the side panel E/F with 4pcs 
M6x25 screws (BB). 

E

F

F

D

J

BB

BB

BB

BB

J

K
K

AA M6x30 screw x 8Hardware:

BB M6x25 screw x 4Hardware:

CC

CC

DD
DD

AA

AA

AA

AA

AA

AA

TM/MC



4

3 Carefully turn the side panel assembly upside down.   
Attach the Bowl Frame C to Front/Back Panel D/G with 4pcs 
M6x30 screws (AA).     

Gently place the Burner H into the hole in the Bowl  Frame C. 
Make sure the Control Panel on the Burner faces the Front 
Panel G.    

Place the Table Top B over the legs and alinge the holes on table 
top with holes on the top of legs.    
Fix them with 4pcs M5x10 screws CC.    

C

C

H

B

AA M6x30 screw x 4Hardware:

CC Hardware: M5x10 screw x 4
CCCC

CC

CC

AA

AA

AA

AA

TM/MC

NOTE: To insure proper bowl frame C orientation, 
locate the Label “C”. Make sure the “C” label side 
faces towards the inside of the table.



Attach the Door Handle I to the Front panel G with 
preassmebled M4x8 screw (GG) and M4 Washer (HH).   
 

obstruct pilot lighting housing. Put the Lid A on the burner.  
  

I

A

GG

HH M4 Washer  (Preassembled) x 1

Hardware:

GG HH

M4x8 Screw  (Preassembled) x 1

GG

HH

G

TM/MC



Connect hose and regulator to cylinder. The propane gas and

cylinder are sold separately. Use a standard 20lb propane cylinder 

have this book.

Storage of an appliance indoors is permissible only if the cylinder is 

disconnected and removed from the appliance. A cylinder must be 

stored outdoors in a well-ventilated area out of the reach of children. A 

disconnected cylinder must have dust caps tightly installed and must not 

be stored in a building, garage or any other enclosed area. The maximum 

inlet gas supply pressure: 250 , the minimum inlet gas supply 

pressure: 5 . 

for automatic operation at ratings less than full input rating. The pressure 

regulator and hose assembly supplied with the appliance must be used. 

The installation must conform with local codes, or in the absence of local 

codes, with national fuel gas code, ANSI Z223.1/NFPA54, natural gas and 

propane Installation Code, CSA B 149.1, or propane storage and handling 

code, B149.2.

TM/MC



Contact us for assistance:  customercare@jrhome.com  |  (  90555-165 )008

TM/MC



Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550     

2. Apply several drops of solution where hose attaches to regulator.

3. Apply several drops of solution where regulator connects to cylinder.

5. Turn cylinder valve ON.

If bubbles appear at any connection there is a leak.

1. Turn cylinder valve OFF.

the hose should be returned to the place of purchase.

If NO bubbles appear at any connection, the connections are secure.

NOTE: Whenever gas connections are loosened or removed, you must perform a complete leak test. Complete installation.

Hose / Regulator

Connection

Regulator / Cylinder 

Connection

LEAK CHECK

   WARNING! 

TM/MC



OPERATION CHECKLIST:

FOR YOUR SAFETY

Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550

TM/MC



NOTE: If burner fails to remain lit, close all valves and wait at least 5 minutes before attempting to light.

Figure BFigure A

SHUT DOWN: AFTER OPERAT ON :

Figure

Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550

Refer to Step 9.

+

_

1. Smell all around the unit area for gas. Be sure to smell near the 
bottom as gas is heavier than air and will settle to the lowest point. If 
you smell gas, shut off the gas to the appliance, extinguish any open 

department. 
2.

3. Inspect hose assembly for evidence of excessive abrasion, cuts or 
wear. Suspect areas should be leak tested. If the hose leaks, it must 
be replaced prior to operation. Only use the replacement hose 

TM/MC



Contact us for assistance:  customercare@jrhome.com  |  ( 310555-165 )008

CARE AND MAINTENANCE
TM/MC



Contact us for assistance:  customercare@jrhome.com  |  ( 410555-165 )008

WARRANTY AND REVIEWS

#jrhome   #paramount

Follow us on:

Extend Your Warranty By Leaving A Review
   We want your opinion about your purchase...and we want you to tell everyone about it! 
   Just leave a review for the product on the retailers website where you made your purchase, or at 
www.jrhome.com www.jrhome.com/warranty-registration within 30 
days of purchase to receive a complimentary extra year of warranty protection.

TROUBLESHOOTING

TM

®

®
JR  HOME
COLLECTION® ® une touche d’innovation à toutes les pièces de votre maison

bringing innovation to all part of your home
TM/MC

FIREPLACES
®

ActiveFlame
®

TM/MC



 

IMPORTANT

For questions, concerns or problems with our product please
email our customer service department:

customercare@jrhome.com  
DATED PROOF OF PURCHASE REQUIRED FOR WARRANTY SERVICE 

WARRANTY
This product is inspected, tested and carefully packaged to minimize 
the chance of  damage during shipment. If a part (excluding light 
bulbs, glass  and fuses*) within one year from the date of purchase 
proves to be defective in material or fabrication under normal use, 
the part will be repaired or replaced. The Company’s obligation under 
the warranty is to replace or repair defective parts at our discretion. 
Any expenses or damage resulting from the installation, removal or 
transportation of the product will be the responsibility of the owner 
and are not covered by this warranty. The owner assumes all other 
risks arising from the use or misuse of the product. The warranty will 
be void if the product damage or failure is deemed by the Company 
to be caused by accident, alteration, misuse, abuse, incorrect 
installation or removal, or connection to an incorrect power source 
by the owner. The Company neither assumes, nor authorizes any 
person or entity to assume for it any obligation or liability associated 
with its products. Light bulbs and fuses are not covered under this 
warranty. If you have any questions regarding the warranty or 
service, please contact us at customercare@jrhome.com.         

Customer Service : 
JR Home Products
Unit 306 - 19100 Airport Way, Pitt Meadows, BC V3Y 0E2 
Toll Free : 1-800-561-5550
E-mail : customercare@jrhome.com

Warranty Registration Information Form / Formulaire d’enregistrement de la garantie

Registration can be completed online at 
www.jrhome.com or by mailing this form. 

Name / Nom :
Street / Adresse :
City / Ville :
Province / Province :
Postal Code / Code postal :

Daytime Phone # / No téléphone jour :
Evening Phone # / No téléphone soir :

E-Mail Address / Courriel :

Product/Produit :
Place of Purchase / Lieu de l’achat :
Date of Purchase / Date de l’achat : 
Model # / No de modèle :
Serial # / Numéro de série :

You MUST register your product to receive 
warranty service.

For warranty service, contact J&R Home 
Products at the address, phone numbers listed 
below within 30 days of purchase. Be sure to 
have your sales receipt and original date of 
purchase. All warranty service will be 
coordinated by 
J&R Home Products service center.

Vous DEVEZ enregistrer votre produit pour vous 
prévaloir de la garantie.

Afin de faire valoir la garantie, communiquez 
avec J&R Home Products à l’adresse et aux 
numéros indiqués ci-dessous dans les 30 jours 
suivant la date d’achat. Ayez en main votre reçu 
et la date d’achat. Toutes les demandes liées 
aux garanties seront traitées par le centre de 
service de J&R Home Products. 

Please mail to / Veuillez poster le tout à :  Parts & Service Department, J&R Home Products Ltd.   Unit 306 - 19100 Airport Way, Pitt Meadows, BC V3Y 0E2

You MUST register your product within 30 days of 
purchase to receive warranty service.

Si vous éprouvez si vous avez des questions ou des 
préoccupations, prière de faire parvenir un courriel à notre service à la clientèle  

customercare@jrhome.com
UNE PREUVE D’ACHAT DATÉE EST REQUISE POUR SE PRÉVALOIR DE LA GARANTIE.

AVERTISSEMENT
soigneusement

des verres, 

s

demeurent

service, 
contacter le service à la clientèle à : customercare@jrhome.com.

Service à la clientèle:
JR Home Products
Unit 306 - 19100 Airport Way, Pitt Meadows BC V3Y 0E2 Numéro 
sans frais: 1-800-561-5550
Courriel: customercare@jrhome.com

Vous DEVEZ enregistrer votre produit dans les 30 jours suivant l'achat 
pour bénéficier du service de garantie.

 L’enregistrement sera complet une fois que vous aurez posté ce 
formulaire ou que vous serez inscrit en ligne.

120920

- 15 -



Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550

 WARNING
MAKE SURE ALL CONTROL KNOBS & CYLINDER VALVE ARE IN OFF POSITION BEFORE CONVERTING.

This appliance is portable and shipped from the factory for use with Liquid Propane (LP Gas), which is delivered
to the grill from removable tanks (LP tanks and their use are covered elsewhere in this manual).
If a Natural Gas connection is available, the user may wish to change the gas delivery system to the
more permanent Natural Gas supply.

This appliance is certified for use with either Liquid Propane (LP Gas) or Natural Gas and comes complete
with the necessary parts to convert the appliance for use with Natural Gas hose and regulator (sold separately).
The conversion valves allows the use of Natural Gas without replacing the burners or entire valve system.

A qualified gas technician is required to do the conversion. Your warranty may be voided if the conversion
is improperly completed. Please retain the parts supplied with the appliance and these instructions so the
technician can do the conversion.

 Orifice Chart
The different burner valves in this appliance have different BTU ratings. The holes in the fittings are orifices
themselves drilled to different sizes so as to allow the proper amount of gas to flow through them. Please note the
chart below to give an easy reference for the various orifice opening sizes for the different valves in the appliance.

 Propane
(manifold pressure 11")

NG
(manifold pressure 7")

        WARNING
Make sure all appliance components are completely cooled and gas supply is turned off and removed 
from the appliance prior to performing the conversion. 

Adjustable Wrench (2)

 CONVERTING FROM LIQUID PROPANE (LP) TO NATURAL GAS (NG)  

16

TM/MC



WARNING! To avoid the possibility of burns conversions should only be done when the burner is
turned off. Turn gas off at source and disconnect the burner before beginning conversion.

Contact us for assistance:  71(  |  moc.emohrj@eracremotsuc 0555-165 )008

WARNING! 
tested before operating the appliance.

Your burner comes from the factory set up for propane but it can be easily converted to natural gas 
by following these steps:

1. Disconnect the flex line from the burner using wrench.

2. Remove orifice connector using wrench.

3. Install the natural gas air shutter from the parts bag.

Flex Line

Orifice 
Connector

NG 
Air Shutter

 GAS CONVERSION LP TO NG  
TM/MC



Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550 18

7. Connect NG hose to the burner control with a wrench. Connect the quick connect adapter to the NG supply
valve.

4. Separate the two parts of the orifice connector by using two wrenches.

Quick Connect Natural Gas (NG) Hose
(Not Included)

Quick Connect Natural Gas Adapter
(Not Included)

Connect the NG hose to the Quick Connect adapter.

Fill out the conversion label included with your  and apply it to the inside of the control panel
access door.

PART# NL-NGHOSE
www.paramountathome.com

Natural Gas Orifice

5. Replace the propane orifice with the natural gas orifice and retighten with wrenches.

Orifice Connector

6. Insert the Orifice holder into the air shutter. Tighten with wrench.

Orifice Connector
in Air Shutter

 GAS CONVERSION LP TO NG  
TM/MC



quick 
disconnect must not be installed in an upward direction and a readily accessible manual shut-off 
valve must be installed upstream of, and as close to, the quick disconnect as is feasible.

Contact us for assistance:  customercare@jrhome.com  |  (800) 561-5550 19

 GAS CONVERSION LP TO NG  
TM/MC


